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ENGLISH VERSION

Instructions:

(1) Right side figures indicate marks of questions.

(2) Write answer any four questions.

(3) Working note is the part of your answer.

1  Information of production department of Madhav Ltd. is as  17.5

follows:
Particulars Estimate | Actual
Units of Production 6,000 6,500
Hours 3,000 3,300
Overhead expenses
Fixed Overhead Exp. Rs. 1,200 1,250
Variable Overhead Exp. Rs. 6,000 6,650
Working Days 25 27

Find out from above details:

(1) Total overhead cost variance
(2) Variable overhead exp. variance
(3) Fixed overhead Exp. variance
(4) Fixed expenses volume variance
(5) Fixed Exp. efficiency variance
(6) Production capacity variance
(7) Overhead exp. calendar variance

(8) Revised production capacity variance

2 (a) The production data for the Budget and Actual Data of 9
Factory for February 2020 are as below:

Budgeted Production 600 units

Budgeted Variable overheads Rs. 15,600

Standard time for production of one unit 20 hours

Actual Production during the month: 500 units

Actual variable overhead expenses for month Rs. 14,000
Actual hours during the month 9,000 hours
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(b)

From the above data calculate:

(1) Variable overhead cost variance

(2) Variable overhead exp. expenditure variance

(3) Variable overhead efficiency variance

Following is the information of production department 8.5
of Krishna Ltd.
Particular Estimate | Actual
Production 4,000 3,800
Working Days 20 21
Fixed Overhead Rs. 40,000 | 39,000

You calculate the following variances:

(1) Fixed overhead variance

(2) Fixed overhead volume variance

(3) Fixed overhead efficiency variance

(4) Calendar variance

3 A company produced a product A and B. Its estimate sales 17.5

and actual sales of month March 2021 is below.

Product| Estimate| Estimate Actual Actual
sales Units [sales price |sales units |sales price

(Rs.) (Rs.)

A 6,000 5.00 5,000 5.00
- - - 1,700 4.75
B 10,000 2.00 7,500 2.00
- - - 1,750 1.90

Above information is given and calculate following variances:

(1)
2)
3)
(4)
(5)
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4  Compute the missing data indicated by the question marks 17.5

from the following particulars.

Particulars Product A Product B
Sales Quantity:
Standard Quantity (Units) ? 400
Actual Quantity (Units) 500 800
Price (Per unit):
Standard (Rs.) 12 15
Actual (Rs.) 15 20
Sales Price Variance ? ?
Sales Volume Variance Rs. + 1,200 ?
Sales value Variance ? ?
5 RAJDEEP Company manufactures two products X and Y; 17.5

using the same equipment and similar processes. An extract of

the production data for these product’s in one period is shown

below:
Particulars X Y
Direct Labour Hours per unit 2 1
Machine hours per unit 1 3
Set up (in the period (times) 40 10
Orders handled 60 15
Produced units 21,000 15,000
Overhead Expenses Cost Rs.
Relating to machine activity 11,00,000
Relating to production run set ups 1,00,000
Relating to handling of orders 2,25,000
14,25,000

Calculate the production overheads to be absorbed by one unit

of each of the product using the following costing methods:

(a) A traditional costing approach using a direct labour hour rate

to absorb overheads.

(b) An activity based costing approach; using suitable cost

drivers to trace overheads to products.
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6  Find out average production cost of machine X. 17.5

For
(1) Production of 4 machines
(2) Production of 8 machines

Direct materials per machine Rs. 5,000

Direct wages per hour Rs. 20

Fixed Overhead Expenses:

—  For production of upto 7 machines, fixed overhead expenses
Rs. 10,000.

—  For production of more than 7 machines upto 8§ machines
Rs. 16,000

—  For the production of the 1 machine, the necessary Human
Hours 500

—  Learning curve rate 80%
Moreover when learning curve rate i1s 90% in application,

then find out the production cost of the 8 machines.

7  Write short notes on: 17.5
(1) The Four Pillars of Cost Management
(2) Characteristics of cost reduction

(3) Characteristics of cost control

8  Write short notes on: 17.5
(1) Explain the objectives of cost audit.
(2) Techniques of cost reduction
(3) Cost control methods.
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